
Possible Solutions 

a) Compare the base ten blocks and use >, <, or = to complete the number sentence. Explain 

your thinking. 

 

 

 

 

4 tens and 1 one makes 41.                                     3 tens and 5 ones makes 35.  

 

35 has fewer tens than 41 so, 37 is less than 42.  

37 < 42 

 

b) Terry has 25 marbles. Will has 16 marbles. Who has more marbles? Use <, >, or = to 

complete the number sentence and explain your thinking. 

 

25 is more than 16 because when I count up I say 25 after I say 16. 25 is to the right of 16 

on the number line. 

25 > 16 


